. Bict : A =
@ MEEDLE £3%i

- 384 x42=16128%tLXIlcLT. ROBExEKRDHIL LS,

® 3 8 4 X 4,2 =
@ 3.8 4 X 4 2 =
@ 3 8.4 X 4,2 =

- 93 x4 6=4278%HbricLT. ROFEEZKHFIL L,

@ 9.3 X 4.6 =
® 9.3 X 4 6 =
® 9 3 X 4.6 =

- 621 x21=13041%1XI2LT, ROBEZERDHILLS,

@ 6,2 | X 2 1 =

® HER EE?‘?@@:@%%@%@



4ToouB1 5] T 1

©) MNEAEDLE BEA

+ 384 x42=16128%bricLT. ROBEERHIL LI,

® 38 4X4,2=161 2.8
W Y

@ 38 4X42=161.23
N AL

® 384 x4,2=161.238
U |/ AL

S 93 x46=42T78%1LIILT. ROWERDIL &,

@ 9.3 X 4.6 = 4 2.7 8

N\ Y AL
® 9.3 X 4 6 = 4 2 7.8
N\ U/
® 9 3 X 4.6 =4 2 7.8
N\ N\,
- 621 x21=13041%23LI2LT, ROFEEZRDHDFL £,
@ 6.2 | X 2.1 =1 3.0 4 |
A A\ AR

® R BZ g‘%@i@?@%@%@kﬁ



